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M\'ﬂ+€(m! Maxtecm Expansions

Each minterm in expression forces output to L (specific Sum of Products
Each ymoxterm In expression forces output 4o O (specific Product of Sums).

Ex: AND

Minterms & Z= 2 m(3)= XY
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Kar naugh Maps

K-map & an alternate woy of fepresew+inj a truth able.

Rules €or COmbining qroups >
-1:) G,.fou.os mu5+ cont ain 1,2)‘4) 3, Vs 2.T‘I minterms

2) Except tor Smal\es+/lar3es+ group cases, a group can be split/joined
with XY +X¥'=x

K-map Size Group Size [# of litewls in term
(£ o€ vaciables) '
2 1/2 , /4
3 1/3 , 2/2,4/1
0 /4, z2/3, 42, %/
5 1/s , 2/4, 4/3, %[z k]t
Ex: ¢
AR \ 0 \ A B C = C
0o M ofv o 1
ol [“bl”/ ABC = A'® (s 1 with either =0 or (=1
O 1 9%,
I l
lo 1

M Age = Ag'c! , miaterm e 4 ot this
loo Combination of inputs ocnly .
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Some +heorems with Karnau@k Maps :

F\o*ﬂn}r_‘;’;Z @

YN+ )y
= X

Xy +y =
K +Y
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Consensug

XN + V2 +X'z=

*Y +x'z
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Given a valid growp , we can find
expressfons'-

VWXYE WJE' Grow‘o of 4 145 hag
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oo Row rany grounps of 2 contawn the
minterm mw_?
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K~Map Hint? certain Fe.a“ons
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